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1 +®100mH | 2 1 10:00 | 1 J\HE100m 4 1 10:00 | 1 J\FE110mH 4 1 10:00
2 400m 33 | P®[5—2+6| 10110 | 2 100m PE| 19 [3—2+2( 1005 | 2 200m PFE | 34 [5—2+6| 1010
3 400m 13 | BB | 2-3+2| 1030 | 3 100m PE| 37 |[5—2+6 1020 | 3 | % 200m FE| 15 [ 3—2+2 | 1030
4 1500m 25 | P8 [ 2—64+3| 1050 | 4 800m P | 13 [2—3+2| 1050 | 4 | x| 100mH F® | 12 [ 2—3+2 | 11:00
5 4%100mR [ 10 | $2 [ 2—3+2| 1210 | 5 800m FE| 23 |3—2+2| 11110 | 5 | & 3000m R | 14 11:20
6 400m #k [ 2—3+2| 1230 | 6 400mH | P& | 10 | 2—3+2 | 11:50 L] 200m Rk 2—3+2| 1140
7 110mH 6 | B 13:00 | 7 400mH | P& | 10 | 2—3+2| 1200 | 6 | % 100mH R 12:20
8 1500m RBE 13:30 | 8 100m HeR 2—3+2 | 1230 | 7 | % 200m R 13:00
9 1500m 15 | R 1340 | 9 800m R 1245 | 8 200m R 13:10
10 +£#&200m 2 1 14:00 | 10 800m R 1255 | 9 5000m B | 13 13:20
11 400m RBE 1420 | 11 400mH | RE 13:30 | 10 J\#E1500m 4 1 13:55
12 400m RBE 14:30 | 12 400mH | 3RE§ 1340 | 11 | % | 4X400mR | RE | 6 14:30
13 5000mwW 2 | RB 14:40 | 13 100m R 13:50 | 12 4%x400mR | RE 14:40
14 4x100mR | 7 | RB 15:30 | 14 100m R 14:00
15 4x100mR RBE 15:40 | 15 3000mSC | R [ 11 14:20

16 4x400mR | P& | 10 | 2—8+2 | 15:20

17 +#&800m 2 1 15:30

18 J\FE400m 4 1 15:40
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1 L 71 3 | RB 900 | 1 FEmBE R | 3 1030 | 1| % =B Ris | 6 10:00
2 L 71 1 | RB 2:00 | 2 J\iE FEREE 4 11:30 | 2 =B R | 9 11:30
3 FENRRE 1| RE 11:30 | 3 CEERER | REF | 2 1230 | 3 I\EE FEWE 4 12:00
4 tEERR | 2 11:00 | 4 ERB REE | 8 14:00
5 FERRE 17 | RB 13:30
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1 NnoT—i | 10 | RBE 10:00 | 1 A8 RE | 10 1000 | 1 | % i REF | 20 10:00
2 novT—#§ 7 | RE 1200 | 2 PYH R | 15 1200 | 2 INEPYH 4 10:40
3 tEEAR | 2 1230 | 3 BRI 4 13:00 | 3 Y REE | 13 12:00
4 5% 9 | RBH 14:30 | 4 fah® R | 18 14:30

5 TEOYR 2 14:30




